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Q1 585
The diagram shows a triangular prism.

Diagram NOT
accurately drawn

12 cm

Scm

Work out the total surface area of the prism.

Tloggular cross ~Rebiens = 5% = 0em*xL = E0cnt
- '

Bose = x5 = \(IBCJ\\Z
g' Fs = &O X \/L = &L\K)oml ........ 6& ........ cm?

(Total for Question is 3 marks)
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Q2. 585

12 cm Diagram NOT accurately drawn
Work out the total surface area of this triangular prism.

(Total for Question is 4 marks)
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Qs. 64, 65, 68

l-l— X 21
(@) Workout 5 3

Give your answer as a mixed number in its simplest form.

Cowert o wPer fockions

5 . 3 L= Q é
\':-_{.r em—

(3)
(b) Work out 21—75-‘15
QX 1D+F . Ix3+?2
15 3
?_ﬂ _ é XS
'S S ax
23 _ 45 ,
S )| B 15 %
(3)

The quesbion cudn'k ask for
*5 Si M&%\g_g{: 'f:g(m_ HOWV/F (Total for question = 6 marks)
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Q4. 64, 65, 68

3

LV RN

+3
Work out 7

Give your answer as a mixed number in its simplest form.

...........................................................

(Total for question = 3 marks)

3 |
2— x
Work out 4 5

...........................................................

(Total for question = 2 marks)
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Q5. 490

Diagram NOT

\'/ acc(xrately drawn
D > : I E

a— Vubch\a %ar oaike aJ\SLQ.S

o

Cv

o
ABC and DE are parallel lines. & Al N 3) Ales in o ULQ‘\SLSZ «JA o ‘&
AEG and BEF are straight lines. ZB \ternoks. 0"’(\\C:)LQS Gre &

Angle AED = 54°
Angle FEG =70°

Work out the size of the angle marked x.
Give a reason for each stage of your working.

p\a(b :’[g° hecowse \/o_rb'ccx)&j OPQOS\EQ 0-@(.23
o 20ual

f—(g& = 5L¥° because oltamate ongles am  rgual
P@E_ = 550 be caause m\c‘ktl_s NN &:(Lcu\&\sz u&v\ o \gbo

Y - 180-56 = 1AL becaute cngles 0 a straiight
Lre add ko 1ED

(Total for question = 4 marks
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Q6. 490

B Diagram NOT
accurately drawn

C

APBis parallel to CTRD.
PQRYT is a quadrilateral.

Work out the size of the angle marked x.
You must show your working.

(Total for question = 4 marks)
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Q7. D& DO 206

On the grid, draw the graph of y = 1 - 2x for values of x from -2 to 3

e l-—z -1 | O, 1 T 3 {0(.& - -0
I T N
Y lg ! L 3 we malkgly tha
[ —-y |- -Q “ Sulobrock  the anaxs
-5 - D fromn 1
3
2
-3 -2 - 0 1 2 3 ¥
1
2
3
5
7
8

(Total for Question is 3 marks)
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On the grid, draw the graph of y = 10 - 4x from x = -1 to x = 3

AN}

16

14

12

10

=Y

(Total for Question is 3 marks)
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Q9. CLIP: 77, 87, 332

Tesco, Asda and Morrison’s all sell bread.

20% of the loaves sold by Tesco are wholemeal bread.

% of the loaves sold by Asda are white bread.

———— —]

Morrison’s sells white bread and wholemeal bread in the ratio 6:4

m———
RS

Which shop sells the most white bread? You must show how you get your answer.

LNk Q\‘\o\sur\.zc\,&

Tesco 50 % Q0%

Asda 2-15% 5%
N b Lesco.

Marrisons 60 % (O 7o
& Whike * Wholpsage (Total for Question is 4 marks)

0%  n the fokio & 4

(o) 10 = O
6x O - X110
60 © wO
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Q10. CLIP: 77, 87, 332

Aldi, Lidl and Iceland all sell chips. The chips are either crinkle or straight cut.
35% of the chips sold by Aldi are crinkle cut.

8 of the Chips sold by Lidl are straight cut.

Iceland sells straight and crinkle chips in the ratio 13:7

Which shop sells the most crinkle cut chips? You must show how you get your answer.

...........................................................

(Total for Question is 4 marks)
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Qii1.
8 identical pens cost £12
3 pens and 5 pencils cost £5.50

Work out the cost of 5 pens and 3 pencils.

LA =g = L1850 »1 ®n
3 fens = 3XRS0 £ B0

EQU\G\S = £550 - £LL 50 =£l (Total 4 Marks)
I Qenail =£l+5=@OQ

5 peas - £1080x5 < £7.5¢
D el - QP x B = 6O
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Qiz2.

3 jars of paprika and 4 packets of sage have a total weight of 290 grams.
7 jars of paprika have a total weight of 210 grams.

Work out the total weight of 2 jars of paprika and 2 packets of sage.

(Total 4 marks)



